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SN ASEHE D
HY: ADMS CAIRIA
Chel: ATAS H=E TAIHE S (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AT S0 ASots TAlZe/AHE & 200,000 200,000
207 ARl 200,000 200,000
01 H1E4H| 200,000 200,000
OAIRIE S AScte TAZE/HE =8
200,000,000 200,000
Ay KNS 8 200,000 200,000
207 ARl 200,000 200,000
01 ARSI 200,000 200,000
OZEs XTI =8
200,000,000 200,000
A1 Siots B8 Al EF0SD] 450,160 403,228 46,932
CAHEEENA SEe2E % s 148,000 148,000 0
201 er23 | 148,000 148,000 0
01 At2teltl 148,000 148,000 0
OZAIHZZELHIAI(UPSI) 0B &l 3t
76,000,000& 76,000
ORSUEEZRAAH(KRAS) 0B SE3}
52,000,000 52,000
ORZ2 TAFBAAY 2 L 242
20,000,000 20,000
dR 0SB LA A 302,160 241,728 60,432
401 AIZHIZ S0 302,160 241,728 60,432
01 Al&H| 300,000 240,000 60,000
O X 0l 223 £ A (CPTED) A+
300,000,000 300,000
03 AlESTHYI 2,160 1,728 432
X 0fl 2 2t & HI (CPTED) At
300,000,000 *0.72% 2,160
HH2IZIH(AEEAHE D) 121,123 114,703 6.420
eIE =g 58,063 58,663 2600
s 58,063 58,663 2600
101 @1A4H| 58,063 57,863 200
02 JIEtAE = 8,443 8,224 219
OIIN HSAA =2 R+E
11,7263 x2Ex30A1 2t 123 8,443
03 SR (RINHA) 222+ 49,620 49,639 A19
oMY EEH=Y BN 2 49,620
OoJlzs 2,407, 7703 ~1H+ 128 28,8%4
o254 17,2002 x18x 123 1,408
O&d+¢ 50,0002 x1& 122 600
otel+¢ 50,0002+ 1123 600
OJE=g 20,0002 12 240
OH A S A 140,000 x 12 * 122 1,680
Og&ESItd| 2,407, 7703 500+ 1H 22| 2,408




SN ASEHE D
M HES AL (ALEHED)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OARIRA+=E
16,6802 x 1 *60A[ 2+ 123 12,010
OYIt2 4| 88,960 *20 1,780
=238l 63,060 56,040 7,020
JI23Hl 63,060 56,040 7,020
201 et 3| 25,360 22,440 2,920
01 At2t2l] 25,360 22,440 2,920
CREEESTEE-ETISIE=T)
500,000& x20H 10,000
O=gHI(01=2HI)
8,000 x202H 82 * 12 15,360
202 048l 24,000 24,000
01 2L AL 24,000 24,000
O=LHoiHI(O1=24I)
20,0002 «20H+52 x 122 24,000
203 gF=4| 10,200 9,600 600
01 D22 HARFA| 6,000 6,000 0
OJIEH(43) 6,000,000 6,000
M FAZSLRFEI 4,200 3,600 600
O©J1E2 (252! 0lat) 350,000 * 12 4,200
405 AtatsE = 3,500 3,500
01 ML ESFSHI 3,500 3,500
OEAM KNIt 1,000,000 *1CH 1,000
OHE1N(500¢L 0l4) 1,000,000 *1CH 1,000
OHM=E2I 500,000 *1CH 500
(OFSE=gsinp) 500,000 <2CH 1,000




SHAE S E A A

Al EAE
DaldENY 'Y
D HIOI4HY MAHR |4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Egalg=ain 46,423,661 61,768,642 15,344,981
= 78,750
Jl 2,629,205
= 1,089,527
Al 42,626,179
g3ae |4 36,712,327 47,051,955 211,339,628
= 78,750
) 2,629,205
= 998,933
Al 32,005,439
BHOI4HE MAH 4 10,069,700 9,465,200 604,500
KA Eet A (SIAZRE], HIO0IR9%) 24 2,000 2,000
203 HF=H| 2,000 2,000
03 A= PR FAI| 2,000 2,000
OXNSHEEY PRFX 2,000,000& 2,000
LEFHAZ AP NEMNS X 2,900,000 3,000,000 100,000
306 EX= 2,900,000 3,000,000 100,000
01 £g= 2,900,000 3,000,000 100,000
OLEFHHAZMPNUEMH 23H XA
2,000,000,000& 2,000,000
O&FHASMAMSIHE ALIHLH| X
= 900,000,000& 900,000
SSH0IQ4ast e A-g X2 1,000,000 1,000,000 0
306 E= 1,000,000 1,000,000
01 9= 1,000,000 1,000,000
OSSO EE A AINL X
1,000,000,000& 1,000,000
25 02 24 1,200 1,200 0
201 223 1,200 1,200
03 A2 I 1,200 1,200
OLECEEHZ2SE 1,200,000 1,200
SEHIOIAHHUH A HI0IH RF(2IHEERH) 711,500 907,000 195,500
306 £= 711,500 907,000 195,500
01 2d= 711,500 907,000 195,500
OSESHIOIQAIIZHIAEHIOIH 25
711,500,000 711,500
BIOIRHAESE oI At 400,000 0 400,000
308 AtXIEMSOIE 400,000 0 400,000
07 AX 2L FE= 400,000 0 400,000
OH0I2 SHAEY TS At
400,000,000 400,000
LESTSFEIMGAALL AL X 850,000 850,000 0
308 AtXIEMSOIH 850,000 850,000




SA AEF A
M AATANY B4
©el: Hiolad AR =4 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
07 AX R FE= 850,000 850,000 0
02023 2&ESFEIMGEAAL JiE|
850,000,000 850,000
K-ZANE S3t EHE Ats XA 100,000 100,000
308 AXIHSOIA 100,000 100,000
07 HXHH 2R 52 100,000 100,000
OK-ZANE S3Ed= Atga X3
100,000,000& 100,000
KIXH-CHE 2018 XASHMAIS (S RIH) 600,000 300,000 300,000
308 XXM SOIA 600,000 300,000 300,000
07 AX L= 600,000 300,000 300,000
OXIXIHM-CHE: D18 NILASHA ALY
600,000,000& 600,000
DYMEAEY AE4ES XF JIBTE ARG (201EE 1,000,000 1,000,000 0
X&)
403 AXIEHMSA=Z0l1d 1,000,000 1,000,000
02 S7I2S0 e H=E 2 E AL 1,000,000 1,000,000
ODPHEH LY dsddse NA JIE+H
1,000,000,000& 1,000,000
HIOIQEA HAFEY J|=4SSHE FR(FIEEN 1,000,000 1,000,000 0
)
403 AXIEHMSAH=0lH 1,000,000 1,000,000
02 SI12S0IT et =& P EF A I 1,000,000 1,000,000
OHIOIQEA SAFY Jl=dESat dE +
= 1,000,000,000& 1,000,000
HAZS BT 2RID| QIESXE 2HST D3A( 1,405,000 0 1,405,000
EPIESES ALY
403 AXIEHHSAH=201H 1,405,000 0 1,405,000
02 SO 2SOt st = & 2 €A ] 1,405,000 0 1,405,000
OFA= BIIIEH 2ZD|D| QISXE SHS
DESHAY 1,405,000,000& 1,405,000
ATPSHEHISE(SIEENY) 50,000 50,000
308 AHXIEMSOIH 50,000 50,000
1 SIS0t oA AS A 50,000 50,000
OUS4EA=Y 50,000,000 50,000
EE SEXJHE A (SIHEEXY) 50,000 50,000
308 AXIHSOIA 50,000 50,000
07 HXHH 2L RES 50,000 50,000
Osyd= SEAAMH A8
50,000,000 50,000
A LHHSEE Al 78 13,446,060 23,270,822 N9,824,762
MESA ANESE AHFAY 954,160 933,422 20,738
308 XtXIEMSO0IE 954,160 933,422 20,738
11 SIS0 EAS A 954,160 933,422 20,738




SH: ASEARDL
M AATANY B4
L 4%} ARSI MET Al P (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OANESYE 23 - HEAY 583,360
OJl= 6,088,000 *200H At 121,760
Oxkst 20,000,000 *20JH At 400,000
Ooggdst 2,800,000 2290 At 61,600
OAJ|dE ADESE 2EA
18,540,000 *200H At 370,800
AXb MUY Qe &Y 421,000 405,900 15,100
201 eet23| 20,000 4,900 15,100
01 AtR2t2|HI 20,000 4,900 15,100
O4xt LS8 2R A=E MA 20,000
O223d & 2= A
20,000,000 20,000
203 HR=H] 1,000 1,000
03 A=A R =AH] 1,000 1,000
OMHTY g 1,000,000 1,000
306 £= 400,000 400,000
01 9= 400,000 400,000
OE=HAaALmMA LR
400,000,000 400,000
5 3 LAANLESR SH(ISHAFAH) 451,400 450,000 1,400
201 et 3| 1,400 0 1,400
01 At22t2l] 1,400 0 1,400
OZASTAIY AXHEI HEIIRER 4
=g 200,000 *7 1,400
306 £= 450,000 450,000
01 2d= 450,000 450,000
0= FF YAHFNLSEF |4
450,000,000 450,000
NATH& SEAE (SHAEXE) 114,500 151,500 37,000
201 fer= 3| 1,500 1,500 0
01 AtR2t2|HI 1,500 1,500 0
OSd AXNSER(52) 3,000,000 *50% 1,500
308 XtXIEMSO0IH 113,000 150,000 A37,000
11 SIS0t 4 A A A 113,000 150,000 A37,000
OXIA A HEXE AL
113,000,000 113,000
OISR SARZDIIED| HE(20EETR) 600,000 12,015,000 211,415,000
308 AXIMSO0IA 600,000 12,000,000 211,400,000
07 MM 2R 52 600,000 12,000,000 11,400,000
OU=H SARZIIED| HHUUSA
600,000,000& 600,000
BIEHERRE SADIB HI DESHIIHEEXIH) 465,000 465,000 0
403 AXIEHHSAH=201H 465,000 465,000
02 SI12S0ItH et =& 2 €A I 465,000 465,000




FA A H AR
HH: AMTAY R4
R 4% A EHE dEEA P2E (SH9 H2)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
OEI=MESERS SaJ|e HA D=3 A
& 465,000,000& 465,000
SMASZIHEXRAE 2SH(FHAEXH) 500,000 1,250,000 750,000
402 2IZtA=01d 500,000 1,250,000 A750,000
01 QI XHE AL E R (KM THE) 500,000 1,250,000 AT750,000
OXHSZNERBHE =
500,000,000 500,000
2AN MHES ABXs JIEsXH EHE 2=(20t 49,000 200,000 A 151,000
AHEXH)
308 XXM SOIA 49,000 200,000 A151,000
N S| 2SHUSHE S HAE AR 49,000 200,000 A151,000
OZEAHO AHS3t 25kls Jskd EH
= 75 At 49,000,000& 49,000
OIXIE X ATHEBAIEEIMIE PH(2IHEEXY) 2,570,000 6,000,000 3,430,000
403 MR EHHSAHE01H 2,570,000 6,000,000 3,430,000
02 S712S0 e H=E P E AL 2,570,000 6,000,000 A3,430,000
OO0IXIE X AMFSAEEIL HIH 7=
2,570,000,000& 2,570,000
OHMAIZ HD|E OIXMMK ATHEE HAEHE (2 3,270,000 0 3,270,000
DI ESFSONEED
402 QI2F X201 & 3,270,000 3,270,000
01 QI X2 AL E R (KEHITHE) 3,270,000 3,270,000
OOHFARILIIB OIHTA ATES EHIAE
= 2= 3,270,000,000& 3,270,000
WS SENS HiEel tdblzld EIopleh 2=(=0t 1,756,000 0 1,756,000
HEXH)
403 AXIEHHSAH=201H 1,756,000 1,756,000
02 ST 2SSt =2 XA A I 1,756,000 1,756,000
oW % SENS el ada2ld FIH|
= 1,756,000,000& 1,756,000
EtE RYUCIEl =3 M Sal olZet AR(SIHAE 2,295,000 0 2,295,000
X&)
402 QIF X201 & 2,295,000 2,295,000
01 QI X2 AL E A (KEHITHE) 2,295,000 2,295,000
Ozletd DYClEl =2dM gl elxet +
= 2,295,000,000& 2,295,000
CIOIE ISt e & ADIERAl &4 4,624,706 2,810,427 1,814,279
CIOIEDIEt ™St dat =& 1,331,000 4,960 1,326,040
201 et 3| 23,000 4,960 18,040
01 At22t2l] 23,000 4,960 18,040
OXEE =2 23,000
OUIOIEHsIEME (E3E) 7=
18,800,000 18,800
OCUIOIHB 2HIE (23 E) 7= el
4,200,000 4,200




SA AEF A
BH: ASTNY R4
s OlolRDIerd 28 & ANEZAl &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
207 ARl 1,308,000 1,308,000
02 MAHHZHI 1,308,000 1,308,000
OHOIEISI SHE (B%E) 75
1,200,000,000& 1,200,000
OUI0IE 2HE (BHE) 25 HEAAL
2l 108,000,000 108,000
AZEYN OIS M (2B XH) 253,101 275,303 N22,202
201 2= 453 5,303 A4,850
2 S5=2g4l 453 5,303 24,850
OSWOIHAH SHIE Al& 2t 453
OdsE RAEFE 3763 *1,204m 453
308 AXIHS0IA 252,648 270,000 A17,352
11 S 2SO0 SHASAIE 252,648 270,000 17,352
OSWOIHHS AL 252,648,000 252,648
ESSSZLNLHEH2S(2HEEX) 960,000 1,120,000 160,000
308 AFAIEHMSOIE 960,000 1,120,000 160,000
11 S [2S0 e YA AS A 960,000 1,120,000 160,000
OE==2=2EEdH 28 N
960,000,000& %12 960,000
WSEZ2AAH 2.0(BCH SaAE) (OB XIE) 755,000 755,000
308 AtXIEMSOIH 755,000 755,000
N S| 2SHUESE X AS AR 755,000 755,000
OMWSE2eIAH 2.0 SSAS (BHEH) (4xH4
=) 755,000,000 755,000
AT SRS Y SEHAY 61,909 52,828 9,081
308 AtXIEMSOIE 61,909 52,828 9,081
11 SI[2S0He 4 EAS A 61,909 52,828 9,081
020233 Al 3L FSHAIY
61,909,000 61,909
AMEZA 24 2 63,910 462,860 398,950
201 er23 | 63,910 12,860 51,050
01 At2teltl 6,700 12,860 26,160
OANIEZAIAEE R 29
300,000 *32] 900
OANIETAIAEE 3 28+E
200,0002 7 H =33 4,200
ORMICHEIL &A=&
200,000 x8EH =12 1,600
2 5234l 57,210 0 57,210
OBAZECH0l RAIZ 48,570
OAIE2 &= X 240,000,000 *8% 19,200
OAIAES QITRHHN) S XI2e
124,000,000 *8% 9,920
OSEEAS(AHIOIX) RX2el
194,500, 000& *10% 19,450




SA AEF A
M AATANY B4
oIt CIOIEDIEHER PE U ADIECAl X4 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONeISAXNFAALE HEH AIEE
100,0002 #4H + 123 4,800
ONH2USSHXFAAH &I2S
80,0003 *4JH A+ 128 3,840
AOIEEAMEIZEX ARG (2T XIR) 1,150,000 0 1,150,000
308 AHXIHMSO0IA 1,150,000 0 1,150,000
11 S [2S0 e YA AS A 1,150,000 0 1,150,000
OADIEAIEIZRIX] At
1, 150,000,000 1,150,000
ST JIGNAAAE 22 1,369 37,099 A35,730
201 Ler=23 | 1,369 79 570
2 s5=34l 1,369 79 570
OsZUT JILXNHFAIAE RAE=4]
13,690,000 10% 1,369
ZREE ASHAX HAX A (FMEFZRIH) 48,417 20,167 28,250
308 AFAIEHMSOIE 48,417 20,167 28,250
11 S 2S0 e EAS A 48,417 20,167 28,250
OZRES AMAHAI HAXHAI
48,416,500 48,417
ORI Xl &8 3,909,401 5,060,856 A1,151,455
Jl 1,706,205
< 680,283
Al 1,522,913
ORI & 15,700 15,700
201 el 15,700 15,700
01 At2telt] 8,700 8,700
oxdJ|tdae E2ES 7Y
10,0003 »150H 1,500
09 HF (UK MBS 9z 2B b
s 100,000 x62& *123] 7,200
02 s3=gHl 7,000 7,000 0
OJI=RJl WS- U XEE NYEF &2
3 g3y 7,000,000& 12 7,000
ATHAOIA X FEX A (R EXIH) 738,000 816,000 A78,000
= 249,000
Al 489,000
402 212t X201 & 738,000 816,000 A78,000
= 249,000
Al 489,000
01 QI XHZ AL E R (K THE) 240,000 240,000 0
O ESAML(NE tHeE S)
2,000,000 *1200H 2~ 240,000
02 QI IH2AILEE (01X THE) 498,000 576,000 A78,000
OFNE PSAL (B2
1,200,000& #4154 2~ 498,000




SESgaaei
s34 54
Al Xt &8 SEESED)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 249,000
Al 249,000
IHAEHUH X HES XA 210,400 209,420 980
= 84,160
Al 126,240
402 2IZHA=01A 210,400 209,420 980
=S 84,160
Al 126,240
02 RIINEASEZ(0IETHR) 210,400 209,420 980
OUEE B2 EsAL
400,000 *57KW 22,800
< 9,120
Al 13,680
OFMSIIANE B 2SAY
400, 0002 * 120KW 51,600
= 20,640
Al 30,960
OdHAZS BHLE 2S5 ALY
400,000 *340KW 136,000
< 54,400
Al 81,600
AITHAOIL X ZHCHOIBEE A AN (7 XIGXIRALS) 39,930 252,922 N212,992
Jl 19,965
Al 19,965
401 AlZHIZ 01| 39,930 252,922 N212,992
) 19,965
Al 19,965
01 A28l 39,930 240,778 A200,848
OHEEHA A EHLZ2LHAIE & XI(3KW)
5,990,000 5,990
Jl 2,9%
Al 2,99
OU+==3Z HHLZLHAIL EXI(KNW)
16,970,000& 16,970
) 8,485
Al 8,485
OZRel A EHeZLNAIE &R (KN)
16,970,000 16,970
Jl 8,485
Al 8,485
THA0U X S=SXI2AA 2,857,871 3,766,814 908,943
Jl 1,686,240
[ 347,123
Al 824,508




SA AEF A
M ALY |Y
Rl OIHAl e &E (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 750 750
01 AlR2teldl 750 750
OS=EAN2AE AHMSHEIt B4+E
150,000 6% 750
402 212201 2,857,121 3,766,814 /909,693
Il 1,686,240
= 347,123
Al 823,758
02 QI X2 AL E R (0IHTHR) 2,857,121 3,766,814 909,693
OLITHAMNU X S=EXIZ AR (& THA Ol L
INEST:])) 2,857,121,000& 2,857,121
Jl 1,686,240
= 347,123
Al 823,758
KUK SHAAH ATHAAAS (SHEEXR) 47,500 47,500
308 AHAIEMSOIE 47,500 47,500
1 SISt AS A 47,500 47,500
OXIF0UX SeHAH TS ALY
47,500,000 47,500
HHX =X &3 3,662,460 6,444,650 A2,782,190
= 78,750
Jl 923,000
= 318,650
Al 2,342,060
JtA ord ke 10,960 11,960 21,000
201 Ler=23 | 9,960 11,960 22,000
01 AtR22te|Hl 9,960 11,960 /2,000
OtAotdEe] R U XIZES 42 H&
70,0002 x20H*43] 560
oIz s285 7Y
10,0002 *100H 1,000
OXotolH A Eadtals Mg FA
g 100,000 x7& %123 8,400
203 HR=4AY] 1,000 1,000
03 A=A PR FA| 1,000 1,000
oulXIZelAt L=
1,000,000& 1,000
TADA S32 X XA 550,000 151,000 399,000
402 2I2E X201 & 550,000 150,000 400,000
01 QI XH2AILE X (KHHITHE) 550,000 150,000 400,000
OZADIA S52 EX KEAE
550,000& *1,000AI CH 560,000
FAHES XIS XA 1,836,000 166,000 1,670,000
Jl 923,000




SA AEF A
M AATANY B4
=Rl HIUHA =X &S (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 273,900
Al 639,100
402 QIF X201 & 1,836,000 0 1,836,000
Jl 923,000
== 273,900
Al 639,100
03 2IZHAEAIHHI 1,836,000 0 1,836,000
OMASE LEDS WHAMY
26,000,000 26,000
Il 18,000
== 2,400
Al 5,600
OMEI=XIAIE LEDS DRIAY
1,810,000,000& 1,810,000
Jl 905,000
< 271,500
Al 633,500
=4I SHA 2Y 829,000 610,000 219,000
307 lztol & 829,000 610,000 219,000
05 2IHRIE S 829,000 610,000 219,000
OEFLAZHA DIZYEH(E)
235,000,000 235,000
OTJ=AEHA BIZIRIE (=)
190,000,000 190,000
OII2ASHA QIIAE(ZA)
202,000,000 202,000
ORo=ASHA QR (22)
202,000,000 202,000
o= Ol A3 A 145,000 70,290 74,710
s 29,000
Al 116,000
401 AIEHIZ SR HYI 145,000 70,290 74,710
[ 29,000
Al 116,000
01 Al&HI 145,000 70,290 74,710
082l &2 B4 AY
100,000,000 100,000
= 20,000
Al 80,000
OLdd 52 Z&3AM 45,000,000 45,000
=S 9,000
Al 36,000
LPGEI| AFEIIT AIEHE ALE 157,500 66,400 91,100
= 78,750
=S 16,750




SA AEF A
I AATAY B4
=Rl HIUHA =X &S
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 63,000
403 AXIEHMSA=01d 157,500 0 157,500
= 78,750
= 15,750
Al 63,000
02 SISO StA=2H 2 ALY 157,500 0 157,500
OLPGE | AFEItTE AIEHE A
225,000 7009+ 157,500
= 78,750
= 15,750
Al 63,000
A NG0HUHA I3 =N 134,000 134,000
307 @20l & 134,000 134,000
05 212t =S 134,000 134,000
OFFAl GIHXIMH RIS 29
134,000,000 134,000
ANSEHMY 54 10,200,000 14,000,000 3,800,000
INE:PSE Falgea g Spa 10,200,000 14,000,000 3,800,000
SSEFHAZ A8 10,200,000 14,000,000 3,800,000
403 AXIEHMSAH=0lE 10,200,000 14,000,000 3,800,000
02 SISO StA=2H 2 ALY 10,200,000 14,000,000 3,800,000
OBSEZFAD 2
10,200,000,000& 10,200,000
SHNE -t 447,902 400,501 47,401
= 90,594
Al 357,308
gatet SH 2l 447,902 400,501 47,401
= 90,594
Al 357,308
SHEE EHOIX 22 18,245 17,361 884
101 21A4H| 18,245 17,361 884
04 JIZtN2Z2 XS+ 18,245 17,361 884
OSHBTE LAIAIHFY 18,245
OJlZ=s 76,9603 x 1B 262U +8F 16,008
OE &=yl 200,000& 22 400
O=ugH=Rg=s 16,407,6802 *4. 5% 739
O=UALLSHZFES
16,407,680 *3.495% 574
OWNRLESERE=
573,450 %12.27% Il
OLNELE=RE2S
16,407,6802 *1.75% 288
O4tEE 16,407,680 * 1% 165
JIEH SHZA 34,985 13,585 21,400




SA ASTAEDL
. SAHNMY 2d3t
el Ee SH 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 34,985 13,585 21,400
01 At2teltl 34,985 13,585 21,400
OSHALE &2t 46,0003 * 1905 8,740
OSH=2= F= g2t
17,0002 2855 4,845
OH#HEXI= M= 10,7002 %2,000% 21,400
AR DI =S H AL 308,294 285,908 22,386
S 57,871
Al 250,423
101 @124H| 83,407 77,535 5,872
= 16,688
Al 66,719
MU IIRINZZE2NSES 83,407 77,535 5,872
OAH ALY B 83,407
OZAt22IRH23E, 282) 35,995,000& 35,99
== 7,19
Al 28,796
OS2A2IXH4Y, 28Y) 6.,264,000& 6,264
= 1,256
Al 5,008
OZAKIZ 22l XH5E, 28Y)
7,545,000 7,545
=S 1,510
Al 6,035
O (6Y, 182) 25,216,000 25,216
& 5,044
Al 20,172
odli2E= 8,387,000& 8,387
= 1,679
Al 6,708
201 fer=3| 224,887 208,373 16,514
== 41,183
Al 183,704
01 AtR2t2lt] 224,887 208,373 16,514
OMEHMZAL Aal 70 & AIRES
7,285,000 7,285
OAEM AL E2 70,0002 *60H 4,200
OAEMZEAF 20N 22t
50,0002 150 7,500
O=AY E2HI(204%, 26)
205,902,000 205,902
& 41,183
Al 164,719
2 - MEYSHZAL 1,330 1,330 0




2A:

3 %;I&% 2435t
el Ee SH 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,330 1,330
01 At2teltl 1,330 1,330
OZg, M=zg A EE(89)
70,0002 197K 1,330
SSARI N EIHLSH AL 85,048 82,317 2,731
=S 32,723
Al 52,325
101 ©1AH| 56,912 54,182 2,730
< 28,456
Al 28,456
M ORINZZ2NSE S 56,912 54,182 2,730
OMIIXHNLSHEANRA = 56,912
OZ ARl A} 79,8402 +8 ~ 18 11,497
= 5,749
Al 5,748
OZXAHA 76,9603 x32H ~ 16 39,404
== 19,702
Al 19,702
O 76,960 x8H 0 5,542
= 2,71
Al 2,7mM
@ZIN L==h= Y= 469,000 469
= 234
Al 235
201 et 3| 28,136 28,135 1
< 4,267
Al 23,869
01 At2t2lt] 28,136 28,135 1
OXALE & M4 1,000& *4,700% 4,700
= 940
Al 3,760
OxXAES 7Y 10,0002 x50 500
= 100
Al 400
bt 60,0002 *30H 1,800
& 360
Al 1,440
O8E oHi= 1,500,000& 1,500
= 300
Al 1,200
OEE=3 12,836,000 12,836
=S 2,567
Al 10,269




S ASR A
HH: S)ael 25
el Ee SH 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
||| o=ns g 40,00021+170% 6,800
ST 22| (Al S T AL L) 63,432 33,186 30,246
|=2| 63,432 3,186 30,246
=&l 63,432 33,186 30,246
201 Ler2o| 30,432 14,586 15,846
01 AR 2t2lt| 30,432 14,586 15,846
0224 AY| 500,000 <242 12,000
CEETIFIE=TI)
8, 00021424248 * 1284 18,432
202 OH| 28,800 15,600 13,200
01 2UH0dHl 28,800 15,600 13,200
©7I1=&H| 20, 00021 +242 x5 * 128 28,800
203 PP =TI 4,200 3,000 1,200
R TSI 4,200 3,000 1,200
©I1Z% (2501 0|5t) 350, 0002+ 122 4,200




Al & 0Ol & AFSE Z Ml A
202345 20ilat LE AYEARN ~ MG
SN JIPE It
M SADHY
Rl M2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
I & 12,798,101 12,725,821 72,280
= 3,680,000
== 3,210,000
Al 5,908, 101
SAIDHE 12,750,347 12,680,668 69,679
= 3,680,000
< 3,210,000
Al 5,800,347
AFA X 2t 134,040 573,856 439,816
= 60,000
Al 74,040
FE2E 14,040 14,040
201 Ler=23 | 14,040 14,040
01 At2teltl 14,040 14,040
OFFAl JIsX=A83 F&+E 14,040
O&s+d 100,000 x 18 +62] 10,800
OoetA==g 30,0002 18 *62] 3,240
AT SAE EEI2 XM 120,000 0 120,000
= 60,000
Al 60,000
307 elzto| & 120,000 0 120,000
= 60,000
Al 60,000
02 2IZHBYAIHE £ 120,000 0 120,000
OARITIX EAJIY BEDZ XY UK X
120,000,000& 120,000
== 60,000
Al 60,000
AAS T =S 5,228,407 5,106,812 121,595
= 499,000
s 3,150,000
Al 1,579,407
e=Ealgsais JNENTSYNJea B 15,547 13,612 1,935
201 2= 13,547 11,612 1,935
01 At22t2lH] 11,220 9,600 1,620
odtexyd & 248 g SX
935,000& x1CH~ 12 11,220
2 5234l 2,327 2,012 315
oxtgs=U 1,939 52| £ 240! 2,327
203 HR=4AY] 2,000 2,000
03 A= PR F&| 2,000 2,000
OMEHEY U P2 F7
2,000,000& 2,000




2A:

X XH -
o=

JIBtE &t
SADHE

(0 A= = PN T~ EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
QEHIALZ2A EFBSAIE XA (HEALY) 1,000,000 3,510,200 22,510,200

= 700,000
Al 300,000
401 AlZHIZ S 0HbI 1,000,000 3,510,200 22,510,200
= 700,000
Al 300,000
01 Al&H| 1,000,000 3,510,200 2,510,200
OHHIL: BLZIAL HXIAY
1,000,000,000& 1,000,000
== 700,000
Al 300,000
S0P E+SSAIE EXNASE (HEALY) 1,000,000 0 1,000,000
= 700,000
Al 300,000
401 AlEHIZ 2018 1,000,000 0 1,000,000
= 700,000
Al 300,000
01 AlZH| 800,000 0 800,000
OSSO S+SSAIE EXIA
800,000,000 800,000
== 700,000
Al 100,000
02 2l 200,000 0 200,000
O=0[AHEHI S+SSAIE XA
200,000,000& 200,000
NEHIA-We| 8+3SAIE8 XA (HEAY) 1,400,000 600,000 800,000
= 980,000
Al 420,000
401 Al HIZ S OHbI 1,400,000 600,000 800,000
== 980,000
Al 420,000
01 Al&HI 1,400,000 600,000 800,000
OMLEHIA-YE| E=SsAIE EXIAMY
1,400,000,000& 1,400,000
== 980,000
Al 420,000
LFHIA=ZCIL H+AAXCIAE XA 712,860 983,000 A270,140
= 499,000
Al 213,860
401 Al HIZ S 0HbI 712,860 983,000 A270,140
= 499,000
Al 213,860
01 Al&HI 712,860 983,000 A270,140




2A:

X XH -
o=

JIBtE &t
SADHE

(0 A= = PN T~ EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OQFHA-E2IA WAL &X
Ared 712,860,000& 712,860
= 499,000
Al 213,860
EF IANLEMEHT E+SSAIE XA (HEA 100,000 0 100,000
2)
< 70,000
Al 30,000
401 Al HIZL 201 100,000 0 100,000
& 70,000
Al 30,000
01 Al&H| 100,000 0 100,000
OFF SAILBRAATI E+S2SAE EX
Are 100,000,000 100,000
= 70,000
Al 30,000
HFSI0IEI L] LBARITK B42SAE SXIAY 1,000,000 0 1,000,000
(HEAY)
[ 700,000
Al 300,000
401 Al HIZL 201 1,000,000 0 1,000,000
= 700,000
Al 300,000
01 Al&H| 800,000 0 800,000
OFZF0l0IHIT LEMAER] S+SSAIE
2RI 800,000,000 800,000
= 700,000
Al 100,000
02 2/l 200,000 0 200,000
OFZFol0IHIZ LEMAHT] E=SSAIE
HIIAMH 200,000,000 200,000
AHR S X TH A4 7,251,500 7,000,000 251,500
= 3,181,000
Al 4,070,500
ot THAAY 7,251,500 7,000,000 251,500
= 3,181,000
Al 4,070,500
401 Al HIZ S 0HbI 7,251,500 7,000,000 251,500
= 3,181,000
Al 4,070,500
01 AlZ8| 6,949,625 6,692,000 257,625
OFFAACK THYALY
6,949,625,000& 6,949,625
= 3,048,577
Al 3,901,048




2A:

JIBtE &t

M SADHY
Rl MHEXITHA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 Zeltl 300,000 300,000 0
OFFAAEX THAUAL
300,000,000& 300,000
= 131,601
Al 168,399
03 AlESTHYI 1,875 8,000 26,125
O LA THAUAS 1,875,000& 1,875
= 822
Al 1,053
Sz 136,400 0 136,400
SEXY J=ZAHE = 136,400 0 136,400
201 er23 | 1,400 0 1,400
01 At2teltl 1,400 0 1,400
O&IIAIHE B4+ 200,000 7 1,400
401 AIZHIX S0HH 135,000 0 135,000
01 AlZH| 135,000 0 135,000
OFFAl S8R J=HE =
135,000,000& 135,000
HY2AIHI(OIBtEZE D) 47,754 45,153 2,601
=3l 47,754 45,153 2,601
Jl=23H] 47,754 45,153 2,601
201 er23| 22,554 19,953 2,601
01 AtR2t2|HI 22,554 19,953 2,601
QJ1=2d2+=AA3HI(01=3)
500,000 x 182 *97% 8,730
ozgt(01=3dl)
8,000& x18H 8L« 12& 13,824
202 04l 21,600 21,600
01 2LHoIH 21,600 21,600
O=UobI(O1=2HI)
20,0002 x 182+ x 12 21,600
203 HR=AY] 3,600 3,600
MU FA2S LRSI 3,600 3,600
©J1F2 (202! 0latH) 300,000& * 128 3,600




H & 0l & AL S Al A
20233 = 20ah LB ALEH= D ~ THHAE D
SA: HASED
M= T AIXHAM
Rl CAITHA 22 EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
RHAH A4 &t 35,156,984 25,660,389 9,496,595
= 3,862,000
T 654,200
Al 30,640,784
S AITH A 33,129,480 24,507,126 8,622,354
= 3,283,000
= 583,000
Al 29,258,480
SAITHA 22| 1,265,957 1,162,143 103,814
A SATHAX2HEH2S 1,097,598 1,017,275 80,323
201 LB-2AY| 50,000 0 50,000
01 AtR2elt] 50,000 0 50,000
OYISHEsAHEHZIIE) F=RS ATt
Et9d ZAL =22 50,000,000&*13] 50,000
307 212+01™ 1,047,598 1,017,275 30,323
05 QIZtRIEr S 1,047,598 1,017,275 30,323
OFFATAIHEXJEE 2
1,047,598,000& *1JH 2~ 1,047,598
HEAIL 2e| 158,359 134,868 23,491
201 LBt AY| 155,359 131,868 23,491
01 AtR22eltl 60,850 65,877 Ab,027
O AITHMGIBHE & SAFEAIZE 48,736
O&EI|otE 2L (2IHA)
250,002 122 3,000
OAaghordare|(20h4)
500,000& =12 6,000
OsZoerdae| (2L)
418,000& * 12& 5,016
ORI XA (20HA)
310,000& =123 3,720
OHAFXI 2l (2HA)
2,500,000& *12& 30,000
OFsZ=HA(2M2) 500,000 23] 1,000
OFE=FAl AYsIEdH 5,724
Oagordag| 132,000& «12& 1,684
Osdo|erEze| 110,000 12& 1,320
OSZIIAHNIA =5
300,000& *13 300
ORIX 3| 165,000& «12& 1,980
OFFEEHA 270,000& »23| 540
OY Y 2H 4,680
O&I|er™ 22| 130,000& x 12& 1,560
Os2letE e 130,000& x 123 1,560
OAagordate| 130,000& x 122 1,560




2A:

Mo &

HEM: CAITHA
SRl TAITHA 2 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFUZSO0IZAIL (Y =2t) LOIFK
=1l 142,5003 12 1,710
02 S3=gHl 94,509 65,991 28,518
OTAITHEAEHE! X HALE A2 67,803
OIS (ML) 2,700,000 128 32,400
ONBI4T 22 (2H4)
400,000& <123 4,800
O3 (2HA) 1,400,000& * 12& 16,800
Od=+=d7 X4l 2,481%1+5,563.28m" 13,803
OF=Al AId5I24H 13,280
o&lIe=s 510,000 * 122 6.120
Odotee=s 65,0002~ 12 780
Ostes 100,000& * 122 1,200
Od=+=d7 Xl 5,000&+1,085.97m’ 5,180
O"g2H 13,426
o&lIes 900,000& 122 10,800
Ostes 100,000& * 12 1,200
Odotees=s 50,0002 122 600
Od=+d7 Xl 1,329&»621.263m 826
206 M=Hl 3,000 3,000
01 MHZH| 3,000 3,000
OZAMEASHE R AATAIZ A2F
100,000 *30H 3,000
CANY 82005 2ddAg K& 10,000 10,000
308 AXIMSOIA 10,000 10,000
1 SISt HAS A 10,000 10,000
OFANY dE0E SGA XI&
10,000,000 10,000
CAHAE st 18,483,127 292,411 18,190,716
AT gdsial =g 18,482,300 289,411 18,192,889
201 2= 9,300 4,500 4,800
01 AtR2t2lt] 9,300 4,500 4,800
OZANSEARAZ HA4
160,000& x15E 23] 4,800
OT AT A= (2L et H = )+=8 (M)
SEsE 1,500,000 32 4,500
401 AlZHIZ SO 18,473,000 278,910 18,194,090
01 A28l 18,473,000 278,910 18,194,090
CANd2LEAE 8 B9 240,000
O=38 TAMEEL3HE -8
240,000,000 240,000
Odots TAIMAAIE SXI0HH
18,233,000,000& 18,233,000
SATHA ClIHIAFS (A2 THA ALY ) 827 0 827




A Mdd &
M TAITHA

Sl TATHYEL St (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
201 er23 | 827 0 827
01 AlR221H| 827 0 827
OBHE TATHMOILIAIY HATHE 42
827,000 827
CANY mEAS 13,380,3% 23,052,572 N\9,672,176
[ 3,283,000
= 588,000
Al 9,509,3%
Ct 20l 0i=2cle R2I0tE, M2 Bolte E<al! 11,487,000 5,230,000 6,257,000
= 2,752,000
< 499,000
Al 8,236,000
101 @124H| 99,503 85,858 13,645
= 21,465
Al 78,038
04 JIZtNZ2 2N sSE+ 99,503 85,858 13,645
OFAMNYSHSANAME S0 99,503
Od=2 A3 22|
114, 3703 x2H 262« 128 71,367
== 15,327
Al 56,040
OAlIRAZ 25
21,4443 < 2B AN 282« 123 16,469
= 4,015
Al 12,454
Og&E=Itd| 200,000& 2 #22] 800
s 200
Al 600
oAU (0128E) 9,907
-=2H3 88,637,000 *4.5% 3,989
= 690
Al 3,29
ARt 88,637,000 +3.495% 3,008
s 526
Al 2,572
B 3,098,000& *12.27% 381
= 61
Al 320
-1ELE 88,637,000 1.75% 1,552
= 253
Al 1,29
~AHEE 88,637,000 *1.00% 887
S 153
Al 734




2A:

Mo &

HEM: CAITHA
Rl ZAIY FEAY (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
O=LH04HI 20,0003 x2H 2L x 12 960
= 240
Al 720
201 er=23y| 218,200 249,800 231,600
[ 140,400
= 26,300
Al 51,500
01 At2teltl 212,200 245,600 A33,400
O AT X HEE 2] 12,200
Oggt=EH| 300,000& * 128 3,600
s 900
Al 2,700
OAlR4d gtz 600,000 * 122 7,200
& 1,650
Al 5,550
OZDIAASBA HON BIIPIAS &
H=g 200,000 +7&H 1,400
= 350
Al 1,050
O=FUAZL A 200,000,000& 200,000
= 140,400
s 23,400
Al 36,200
02 S3=2g4l 6,000 4,200 1,800
OSAHMRHEXIANE 2522
500,000 * 122 6,000
301 LtENZ 71,316 76,992 Ab,676
= 19,249
Al 52,067
11 SEAAHIXIRAS 5,920 5,920 0
O AT X HEE 32|
8,0002x102*23|* 12 1,920
=S 480
Al 1,440
O=FUAFL A 4,000,000& 4,000
& 1,000
Al 3,000
14 DBt 2 a=S 65,396 71,072 ADb,676
OFAMNYHEXNAME =29 65,396
OsdNade&, SZ22CIU0IH 5+
E 390,500 x82 « 12 37,488
== 8,926
Al 28,562
O3t =& 77,5203 x10B 32« 12 27,908




2A:

Mo &

HEM: CAITHA
Rl ZAIY FEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,843
Al 19,065
401 AlEHIZ 2 0HbI 11,007,981 4,817,350 6,280,631
= 2,611,600
< 431,986
Al 8,004,395
01 Al&H| 10,680,238 4,412,350 6,267,888
OE2s TAIMY wEA
10,680,238,000& 10,680,238
= 2,368,600
[ 391,486
Al 7,920,152
02 Zeltl 412,743 400,000 12,743
OEE2s TAIMY =EA
412,743,000 412,743
= 240,000
& 40,000
Al 132,743
03 AIE2THYI 5,000 5,000 0
Og2s TAIMY 7mE A
5,000,000 5,000
[ 3,000
= 500
Al 1,500
=0l &CH &M 2IRCH K20 &0 52,154 6,602,314 26,550,160
101 @1A4H| 49,754 85,858 N36,104
04 JIZtNZ22 XS 2+ 49,754 85,858 A36,104
O AR HE S0 49,754
OdZ2A 3 2|
114, 3703 x1H*262 « 12 35,684
OAlRAZ25E
21,4443 1B +4N | 282 123 8,235
Og&E=Itd| 200,000 x1 =23 400
OAUEE200122E) 4,955
-=o=3 44,319,000 *4. 5% 1,995
-AYL2E 44,319,000 +3.495% 1,549
“HIRYEY 1,549,0002 %12.27% 191
-UEEE 44,319,000& %1.75% 776
A EE 44,319,000& x1.00% 444
O=LH04H| 20,0003 x1H 22«12 480
201 Ler23| 2,400 269,000 266,600
01 At2teltl 1,900 263,000 A261,100
O A2 LE 28| 500
OAIR4 itz 500,000 18 500




2A:

Mo &

HEM: CAITHA
SRl DAY FE AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFUAHZANE EX MM It
gaag 200,0002+72) 1,400
02 S3=gHl 500 6,000 25,500
OZAMESHAEAALE 5523
500,000& 1& 500
ASE sFotke &2, BHE &sRFol=e 2, RYs 696,268 8,662,000 NT,965,732
101 e124d| 49,754 85,858 A36,104
M ORNZZ2NSE S 49,754 85,858 A36,104
O AT AHE 20] 49,754
42 Q2|
114,370 x 1 +262 122 35,684
OAeI22+E
21,4443 x 1 +4A| 282 123 8,235
OEE=It| 200,000 1 =23 400
O4UEE2(O0I22E) 4,955
-=2H3 44,318,080& *4.5% 1,995
-AYEE 44,318,080& *3.495% 1,549
QLS 1,548,9102%12.27% 191
-1ELE 44,318,080 %1.75% 776
~SHEE 44,318,080& * 1% 444
O=LHNHI 20,0003 = 1H =2« 123 480
201 etz 3| 31,884 212,200 /180,316
02 S3=gHl 31,884 4,200 27,684
OFESIEHH 2223 S
2,657,000 128 31,884
401 Al HIZL 201 500,000 4,222,750 A3,722,750
01 Al&H| 500,000 4,222,750 N3,722,750
OFEJ 24 2HICI0 SAH
500,000,000& 500,000
405 KHoHF S| 114,630 114,630
01 ML ESFSHI 114,630 114,630
OF=o2HH JtHl =235 ¥ 14,630
Ol Azel4 Hal 8,000,000 1CH 8,000
OoolAZe4a Jetelr
1,500,000 *1CH 1,500
OXts24)| 1,000,000 *1CH 1,000
OgAEAAI 800,000 1CH 800
OME I 1,000,000 *1CH 1,000
odall 1,000,000 = 1CH 1,000
odsi 1,000,000 *1CH 1,000
O£ 0l A 330,000 1CH 330
OFEZHIE Mtea 6,200
OdlIa=dIAMHA 2,000,000 «1CH 2,000
OKSL22I1IIT 500,000 1CH 500




2A:

Mo &

HEM: CAITHA
Rl ZAIY FEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osti2aZa S A A
1,050,000 *1CH 1,050
OEd =L (eHdBial)
2,000,000 *1CH 2,000
OZ 8o 650,000 1CH 650
OFE5IEHH S7TY =574 10,510
odall 2,000,000 *1CH 2,000
odsil 2,000,000 *1CH 2,000
(@F=g=p=ENIN| 290,000 =8 H 2,320
OA8 60,0002 +24H 1,440
O& Xt el Xl 250,000 *1CH 250
OAJIMED| 2,500,000 «1CH 2,500
OFF=52HH Estud =3 7 8,290
oZzaalolz 242,000 200K 4,840
Ol 200,000 *1H 200
OZ2lo Xt 65,0002 *50H 3,250
OB =52 Ll 75,000
OMIEDI1(27kg) 15,000,000 *3CH 45,000
OAXII(27kg) 10,000,000 *3CH 30,000
JISS 12t 0120t SEote 2SS 66,074 109,258 N43,184
101 @124H| 49,754 48,476 1,278
M OIRINZZ2NSE S 49,754 48,476 1,278
O AT EXIAHE 20] 49,754
ON2HR 01214
114,370 x1H+262 122 35,684
OAlRAZ 25
21,4443 x 1B #4 A 282« 12 8,235
OE &=yl 200,000& 122 400
OAUEE2(0I22E) 4,955
-=23=s 44,319,000 *4. 5% 1,995
A2 44,319,000 +3.495% 1,549
-AI|RYEE 1,549,000 %12.27% 191
-1ELE 44,319,000 *1.75% 776
~SEE 44,319,0002*1.00% 444
O=U0d8l 20,0002« 1 =22 x 12 480
201 2= 16,320 17,400 21,080
01 AtR2t2lt] 13,200 13,200 0
OSAITHMRH X LE 2SI 13,200
OJl=g P83 300,000& 122 3,600
OAlRd gite 800,000 x 12 9,600
02 S3=gHl 3,120 4,200 1,080
OZAMESHHXANE 5523
260,000 * 122 3,120




2A:

Mo &

HEM: CAITHA
Rl ZAIY FEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g - 922 ALH0el ZdAr 20,000 20,000
307 elztol & 20,000 20,000
02 2B YA E X 9,000 9,000
OXNS Y Al RSB SEIE =AY
A& 9,000,000 9,000
03 YIZAHHEE 22X 11,000 0 11,000
OXG =t Al HESIg =IIAIYI
A& 11,000,000 11,000
SSHEEZ XIS 1,900 1,900
403 X SHMSAH=01H 1,900 1,900
02 SIS0t =S A AEHI 1,900 1,900
ORES EYZ NESHAIE(S4)
1,900,000& 1,900
gel €3Ul &=2 d=s S 1,057,000 2,449,000 21,392,000
[ 531,000
== 89,000
Al 437,000
101 @124H| 87,837 85,858 1,979
= 21,465
Al 66,372
04 JIZtNZ22 NS+ 87,837 85,858 1,979
OFAMNYHSXAME S0 87,837
Od=2 A A o2yl
100, 7052 x2 & *x262 122 62,840
& 16,327
Al 47,513
OAIZRZ 25
18,8823 x2Z *4A| 282« 123 14,502
= 4,015
Al 10,487
Og &SIl 200,000 x2H *23] 800
== 200
Al 600
O4UEEZ(O0I22E) 8,735
-=2H3 78,142,000& +4. 5% 3,517
= 690
Al 2,827
—2ZEE 78,142,000 +3.495% 2,732
== 526
Al 2,206
“AIRYEE 2,732,000&%12.27% 336
= 61
Al 275
-11E82E 78,142,0002 %1.75% 1,368




2A:

Mo &

HEM: CAITHA
Rl ZAIY FEAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 253
Al 1,115
~SHHEE 78,142,000& *1.00% 782
= 153
Al 629
O=U0d8l 20,0002 x2EH 22 x 12 960
== 240
Al 720
201 er2 3| 53,800 56,800 23,000
= 24,000
== 8,200
Al 21,600
01 At22t2l] 49,600 52,600 23,000
OSAITHMHERIZELNE 2SI 9,600
OJl=g P83 300,000& * 122 3,600
= 900
Al 2,700
OAlRd gXtg 500,000 * 12 6,000
=S 2,250
Al 3,750
O=F2A LA 40,000,000 40,000
= 24,000
= 4,000
Al 12,000
2 S22l 4,200 4,200 0
OZANYRHEXHHE S52=
350,000& * 122 4,200
= 1,050
Al 3,180
301 LEtE N = 41,174 75,992 N34,818
= 10,073
Al 31,101
11 #AIAHIXIE S 4,920 4,920 0
O AR XA HE 32|
8,000 x10 =23 12 1,920
< 480
Al 1,440
O gt 3,000,000& 3,000
= 750
Al 2,250
14 0Bt 243 36,254 71,072 A34,818
OZAMAHENELEH 2 36,254
Ogsot =&
100, 7053 x10E 32« 12& 36,254




A Mdd &
M TAITHA

SRl DAY FE AR (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 8,843
Al 27,411
401 AlEHIZ 2 0HbI 703,189 2,201,572 1,498,383
= 507,000
< 49,262
Al 146,927
01 Al&H| 702,189 2,200,572 1,498,383
O3 TAIMA =LA
702,189,000& 702,189
= 506,400
[ 49,162
Al 146,627
03 Al 2 CHHI 1,000 1,000 0
O+ TAIMAY =LA 1,000,000& 1,000
= 600
< 100
Al 300
402 2I2F X201 & 171,000 171,000
01 QI X2 AL E A (KHHITHE) 171,000 171,000
O&=cl AN2AE 9,000,000 199t 171,000
EXEAl AE 67,190 97,750 /30,560
HSEAE 2el 67,190 97,750 230,560
KT8G 2cl2% 67,190 97,750 /30,560
201 Ler23 | 2,970 10,750 AT,780
01 At2telt] 570 5,750 25,180
OZAIHY AL 2/2IMF M=
4, 7503 20 F+62] 570
02 S3=gl 2,400 5,000 A2,600
O0s&sR= # MA= 2,400,000& 2,400
203 =4l 2,000 2,000
03 A= PR FZ| 2,000 2,000
OHEAY R 2,000,000& 2,000
307 lztol & 13,000 13,000
05 2IZtAE = 13,000 13,000
oxlZE F2EY 13,000,000 13,000
401 AlEHIZ 2018 49,220 85,000 A35,780
01 Al&H| 49,220 85,000 A35,780
O=2MEH ANE=E FA2+H] 49,220
ONns sX2=4| 5,020&+2,813.26m 14,123
018 RA2=H| 5,020 =648 3,253
0215 |RXI2==H| 5,020 367 . 17m’ 1,844
Ot 23 EY 30,000,000& 30,000
CARFABHEIA 1,850,360 1,001,360 849,000




2A:

X XH -
o=

M &t
AR FAHESEEEIAY

Rl FHEZBINEAIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 579,000
=S 66,200
Al 1,205,160
HEZ NS A 1,850,360 1,001,360 849,000
[ 579,000
= 66,200
Al 1,205,160
BIE(HD) ZHIAY 890,360 270,360 620,000
401 AIEHIX 20HH 890,360 240,360 650,000
01 A28l 890,000 240,000 650,000
ogld EAN = FUHE TEAMY
20,000,000 #2012 40,000
oeld FHIAL 425,000,000 201 2 850,000
03 Al 2CHYI 360 360 0
oy #H 2 =Y LAY
40,000,000& 0. %% 360
S0E FAXY MEHAH HEAMS(2AH F22) 674,000 513,000 161,000
[ 379,000
= 40,500
Al 254,500
401 AlEHIZ 2 0HbI 674,000 513,000 161,000
= 379,000
< 40,500
Al 254,500
01 Al&H| 674,000 500,000 174,000
OS0E FHAXNS L0 HEAH(22
M S22) 674,000,000 674,000
= 379,000
< 40,500
Al 254,500
NS MS0= At 286,000 0 286,000
= 200,000
< 25,700
Al 60,300
201 el 147,400 0 147,400
s 103,180
== 13,280
Al 30,940
01 At22t2l] 147,400 0 147,400
OF AL 147,400
O gZ oA 146,000,000 146,000
= 102,200
== 13,140




2A:

Mo &

B CALENBBFYIAL
Rl FHEZBINEAIS (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 30,660
ORIOtA BIOISIRS) BASY
200,000 +74 1,400
= 980
= 140
Al 280
301 22N = 58,013 0 58,013
[ 40,608
= 5,221
Al 12,184
11 #AIAHIXIE S 1,920 0 1,920
OBFXA 013 5lo/y]
8,0002 68 *43]x 123 1,920
[ 1,344
= 173
Al 403
14 0Bt 2as 56,093 0 56,093
OEEXA 28 =23 56,093
O&Z20UI0Ie 28 +¢
390,500 «82 « 12 37,488
= 26,241
== 3,374
Al 7,873
Oott=gsoit ¢
77,5203 x5H 42« 123 18,605
= 13,023
< 1,674
Al 3,908
401 Al HIZL 201 80,587 0 80,587
= 56,212
< 7,19
Al 17,176
01 Al&H| 77,587 0 77,587
OgAS MS0tE At 77,587,000 77,587
s 54,112
s 6.899
Al 16,576
03 A& S CHYI 3,000 0 3,000
OgAS MS0tE At 3,000,000& 3,000
s 2,100
s 300
Al 600
HY2EIHI(HALZ D) 47,754 54,153 26,39
Jl=3H| 47,7%4 54,153 26,3909




A MALZDt

MM HYSAGH|(THHALE D)

ol Jl2Z (CH9: &S1)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
J|123&H| 47,754 54,153 26,39

201 LB-2AH| 22,554 23,453 2899
01 AtR2telt] 22,554 23,453 N8N
oJl2gRsgs FY|(01=3])
500, 000 * 18 *97% 8,730
OJI=ZHI(SI)
8,000 x18H+8L x 12& 13,824
202 44| 21,600 21,600
01 =2LHO4 ] 21,600 21,600
O=UoigI(O1EZll)
20,0003 = 18H x5« 12& 21,600
203 YRF=&IH| 3,600 3,600
M MBI HRFA| 3,600 3,600
@I F=H(2021015t) 300,000& =123 3,600
TP ES (A A Z 62,200 0 62,200
ISFSUNES 62,200 0 62,200
BtEt=2 J|Et 62,200 0 62,200
802 Bret32J|Et 62,200 0 62,200
01 =E8x38te=2 62,200 0 62,200
OY 7Y =HEFIMEAIY =21 gtet2
62,200,000 62,200




